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Calculate IF *drif F= (x+y, x) and C is the line segment from (1, 0) to (- 1, 0) then along y =1 - 2 to 0, 1)
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12. A particle is traveling on the path y = = from (0,0) to (1,1). For which of the following
force vector fields is the work done equal to 07
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Compute the counterclockwise circulation of F around the closed curve C, where C is the region bounded above by y= - 4x% +9 and below by

y=5x? in the first quadrant.

F=(-5x+4y)i+(3x-7y)]

OA 8 +3 1
OB M %] b ik § E’.d"
62. 24 ¥R ‘grgl ¢
op. -6 .
OE -14 : 2% optiome LYY M'h-;m's Iriea
Cx> netret49 ‘;”‘ erenpls tadey
o
1 9y = 9 : ;
: : ee | Stokes’ / Gresng

lets wia ('or-uns Yhegremn L=

- S‘SCuflP J-' w e

Fr {~Savby 3~ > R i ﬁF-dv"

N\ o S\
£ J §
i c{dusaj‘ﬂdx "‘3)4.4
W - ‘('3 2 3=% = = & R
; i 8 5
R: 08X el o iye-exaq
&E‘ol?t s\‘ S""t"*? i |
' - < x
[~ ° ted Q()JJJK ID (Ql QM* _.'gxiq* (°

{}

~é



